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Problems:
1   _____

2   _____

3   _____

4   _____

1. Given that Z1 = 2 + j3 and Z2 = 4 – j3, use your calculator to reduce Z1 + Z2,        Z1 – Z2, Z1Z2, and Z1/Z2 to rectangular and polar forms.
2. Given that Z1 = 1 – j2 and Z2 = 2 + j3, use your calculator to reduce Z1 + Z2,       Z1 – Z2, Z1Z2, and Z1/Z2 to rectangular and polar forms.

3. Given that Z1 = 10 + j5 and Z2 = 20 – j20, use your calculator to reduce Z1 + Z2, Z1 – Z2, Z1Z2, and Z1/Z2 to rectangular and polar forms.

4. Use your calculator to reduce each of the following to rectangular and polar forms:

a. Z = 5 + j5 + 10 /30o
b. Z = 5 /45o – j10

c. Z = (10 /45o)/(3 + j4)

d. Z = 15/(5 /90o)
